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6 H20H(K) #%H

A A4 X EEMy | FRAR- AR (FIFHGL {4 =
BHHN 8E Ri& 5kg & kg 800 N
BHHN 102 R 5kg i kg 700 MR
I HN 6 = 5kg & kg 800 EE
I HN 1B = 5kg b kg 800 EiE
il AN 8 FE 5kg i kg 750 EiE
= A 102 FE 5kg 8 ke 650 EiE
7Y 20/212 alll 5kg e kg | 1,150 FiE
71 8/10kg | dbimE 1A 7 kg 950 EE
7 7/9kg R 1A 5 kg 850 EE
754 2E diEE | 11/14kg i kg 800 EBE
ES<Y 6/8kg KI5 1A B kg | 1,100 EE
AuA 4kg FE 1A i kg | 1,750 £
huA 5kg FE 1A 7 kg | 1,600 £
huA 3kg = 1A i kg | 2,000 8 BE
hy#t 2 = 5kg 78 kg | 1,200 8 B
1H* 6/72 RER #93kg 78 kg | 2,200 8 Ex
I xR 4/5E Ri& 7.7/9kg 7= kg | 1,500 EE
HY3F 5FE =W Skg& #a kg | 1,900 TE
* B 4 GEdon] 5/5.5kg & kg | 2,750 $ BEE
£ Bff 5FE GEdon] 5/5.5kg e kg | 2,600 2 5
B 2kg & k. 1A & kg | 2,000 EBE JEX
V=) 1/2 =5 1.6/2.4kg 5= kg | 2,900 B
B 3kg B 1A #a kg | 1,200 8 EX
R 2.5kgUP & 1A e kg | 1,300 8 E
TATA 3/4 R 3kgE b kg | 2,600 EE JEX
R 3kg INE R 1A 78 kg | 2,200 £
A INF 4kg INETR 1A B kg | 2,200 )
HEBYNE Z1E 500g 5 P | 2,600
M7 102 FEF P P | 1,200
BET7 102 Edi) 1kg P P | 3,500
ISR 100g KB P P 500
Ry B #9300g tiEE & kg | 1,600




